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K8. ®�4ABC S��!	���� I!� O, �� O�»� R. L:

A�� PA!QA þ�� O S�u A:, �� PA �� I 	�, � QA �� I S

�. aq½Â PB, QB!PC , QC . ¦y: 8PAQA · PBQB · PCQC ≤ R3, �Ò¤á�

�=�4ABC ��n�/ [1].

�K´��±�~(J
Í¡�K8. (�Jø�y² [1]�|^�üC

�, 
�O��~E,, Ù¦Ö7 [2] , [3] , [4]��Ñ
�«Ù¦�y², �´Ñ

'��¡. e¡�Ñü«#�{'�y², 1�«´XAÛ�{, |^ù°0½

nÚ q��. 1�«´g,
{'�n�O��{. �,��Ñ^�
{ü

�þ�Ø�ªÚ�)Ø�ª.

y{� �� I!QA �»� r!x, 4ABC >��g� a, b, c, A,B,C; ¡È

� S.

dé¡5Ø�� C > B, R = 1. �� QA!PA ©O� AB!AC u B′, C ′

9 B′′, C ′′.
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� I � AB!AC �u J!K, JK � AI u I ′, AD ⊥ BC u D. Kdù°

0½n� I ′�4AB′C ′S%!4AB′′C ′′� A−�%, �d��»� r′.

w,4AB′C ′94AB′′C ′′þ�4ABC  q. l
��
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= 1 = R3.

= 8PAQA · PBQB · PCQC ≤ R3,��=�4ABC ��n�/���Ò. �

5 ùùù°°°000 (Manheim)½½½nnn��Qã�: Xþã, e� I �4AB′C ′	�

��S�, �� AB!AC �u J!K, JK � AI u I ′, K I ′ � 4AB′C ′ S%;

é�%�kaq(Ø, =� I � 4AB′′C ′′ 	���	�, �� AB!AC �u

J!K, JK � AI u I ′, K I ′�4AB′′C ′′� A�%. ���½,.

ù°0½n,�«�dQã�: ½: A3½� O	, B!C ©O3� O�

� AJ!AKþ, � BC�� O�uD, K4ABC�	���,½���,=:

D$Ä�, 4ABC �	����ä��, w,d�	%;,�V­�.
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y{� �� I!QA!PA �»� r!x!y, 4ABC >��g� a, b, c,

A,B,C; ¡È� S, dé¡5Ø�� C > B, R = 1, K
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